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What is the hexadecimal 

representation of the 8-bit binary 

number 10101010 

What type of compression removes 

data temporarily and adds it back 

later 

What are the two main data 

transfer mediums 

What is the concern regarding 

mobile technology and sensitive 

information 

What are utilities in modern 

operating systems 

What is a procedure 
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What is the hexadecimal 

representation of the 8-bit binary 

number 10101010 

 

The hexadecimal representation of 

the 8-bit binary number 10101010 is 

AA. 

What type of compression removes 

data temporarily and adds it back 

later 

 

Lossless compression. 

What are the two main data 

transfer mediums 

 

Wired (Ethernet) and wireless (Wi-Fi 

and Bluetooth). 

What is the concern regarding 

mobile technology and sensitive 

information 

 

If devices are lost or stolen, sensitive 

information can be compromised, 

and the company may be in 

breach of the Data Protection Act. 

What are utilities in modern 

operating systems 

 

Utilities are a range of programs that 

perform a collection of useful 

functions such as system 

maintenance, storage organization, 

and security. 

What is a procedure 

 

A type of subroutine that doesn't 

return any data to the main 

program. 

 


